n ack We promise you're going to have a great experience.

smllllﬂlls Baldly?eative Expert Customer Service Focus On Quality Ships Same Day

Rack Mount Monitor Tray

Installation Instructions

Kit P/N: 133-2279

RackSolutions.com If we can’t mount it, no one can.



Kit Contents

(1) Partially Assembled Shelf w/ Door Generic Monitor Hardware Bag:
(2) Long Rear Brackets (4) 1/8" White Nylon Spacers
(2) Short Rear Brackets (4) 1/4" White Nylon Spacers
(1) Cable (PS2 to USB) (4) Pan Head Screws M4x6mm
(2) Cable Power Cord (4) Pan Head Screws M4x25mm
(10) 11" Tie Straps (4) Pan Head Screws M4x30mm
Rack Mount Hardware x8 Bag: Dell 17V/19V Monitor Hardware:

(8) 12-24 x 1/2" Pan Head Screws Zinc (4) 1/4" White Nylon Spacers

(8) 10-32 x 1/2" Pan Head Screws (4) Pan Head Screws M4x14mm
(8) 12-24 Cage Nuts
(

Rear Hardware Bag:
8) 12-24 Square Nuts

(4) 8-32 x 3/8" Pan Head Screws
(4) 8-32 Nuts

Installation Instructions

Step1.  Mounting Depth: Measure the mounting depth for your rack from the front mounting
surface to the back mounting surface

4 Post Cabinet Double 2 Post
— - — (|
= =
z o pd o«
o) < o) S
vd o vd o
[V [T

L

- L

| -
‘>‘ MOUNTING DEPTH F ~—‘ MOUNTING DEPTH F

Step2a. 18.2"-31.5": The rear rack brackets will be installed as shown below for this
"Mounting Depth" range (See Step 3 for assembly).

Long Mounting Bracket T\

© ©
L— MOUNTING DEPTH 18.2-31.5" 4—‘

Page 2

RackSolutions.com If we can’t mount it, no one can.



Installation Instructions

Step 2b. 17.5"-18.2": The rear rack brackets will be installed as shown below for this
"Mounting Depth" range (See Step 3 for assembly).

Short Mounting Bracket —\

@ @ Djﬁ o ————————— ° J

o

}_7 MOUNTING DEPTH 17.5"-18.2" —=

Step2c.  11.0"-17.5": The rear rack brackets will be installed as shown below for this
"Mounting Depth" range (See Step 3 for assembly).

Short Mounting Bracket x

] ] ho o o O —r————

B

*>‘ MOUNTING DEPTH 11.0"-17.5" |=—

Step 3 Rear Bracket Attachment:  Remove outer rails from the shelf. Move the slide rails
back approximately 10 inches.

Attach the Rear Rack Brackets as shown below. Attach using (4) 8-32 x 3/8" Truss
Head Screws and (4) 8-32 Nuts. Tighten all screws.

(2) Rear Brackets

(4) #8-32 Nuts
(4) #8-32 x 3/8 Truss Head Screws

Page 3

RackSolutions.com If we can’t mount it, no one can.



Installation Instructions

Step 4 Attach rails to the rack: _ Attach the Front and Rear of the rails as shown using the
"Rack Mount Hardware". Install cage nuts if needed. Repeat for the other side.
Tighten screws on the right side rail. Leave the screws on the left side slightly loose.

(4) #12-24 Pan Head Screws

(4) #12-24 Cage Nuts

—]

Outer Rail

Step 5 Monitor Attachment: Turn the monitor face down on a large flat surface. Locate the
four VESA mounting holes on the rear of the monitor.
a. Determine if spacers are required: _ Some monitors have a "recess" on the rear of
the monitor. Spacers are provided to fill this gap. See Table A on page 5 for spacer
length options.
b. Determine Screw Length: _ Only use the metric M4 screws provided. Screw length is
determined by the spacers used (see Table A on page 5).

(4) Screws, Metric
(See Table A)

Upside down monitor shelf R

Spacers
(See Table A)

Monitor
(Face-down)

Page 4

RackSolutions.com If we can’t mount it, no one can.



Custom Engineering

Our top notch (in-house) mechanical and electrical
engineers are available to solve your toughest custom
design challenges.

On-Site Manufacturing

Our manufacturing facility is on-site at our Texas
headquarters. If we send them a drawing in the morning,
we can have parts ready to ship-out that evening.

RackSolutions.com If we can’t mount it, no one can.



Installation Instructions

Step 6 Install Equipment: Slide the monitor shelf all the way in. Tighten all screws.

Note: When tightening the loose rails, support the bottom of the shelf to ensure proper
rail adjustment.

Note: If installing CMA, refer to CMA instructions at this time.

Page 6

RackSolutions.com If we can’t mount it, no one can.



Online, in stock, and always growing
Our distribution centers are packed. Check our
website to see if your solution is ready and waiting.
Our availability is shown in real time.

-y

In-House Advantage

Customer support, engineering, and logistics are
standing by to get you whatever answers you need.
Even if that means walking down and asking the guy
who made it for you.

RackSolutions.com If we can’t mount it, no one can.




n a c k We promise you're going to have a great experience.

snlllllﬂlls Bnldly?eative Expert Customer Service Focus On Quality Ships Same Day

We'll help you figure out what you need, get it to
you fast, and we'll stand behind it

Warranty Statement

Innovation First, Inc. warrants our products against defects in material and workmanship for a
period of one (1) year from the date of purchase. Innovation First, Inc. liability shall be limited to
repairing or replacing, at our option, any defective product.

RackSolutions.com If we can’t mount it, no one can.




